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5 g A/ WS
| [ BrigreT X4 SRED P 1,500
2 [wumpgpxs imiEs p 1, 200
3 (AR s R IR p 950
M N N Y = 5, 200
HET L e = 8,000
HET I S EY = 15, 000
Y = 200, 000
8 R g EjiF == 280, 000
9 | gB(s R =x 160, 000
10 [y% 5 = i EN 35, 000
11 |# Bk == 19, 000~20, 000
12 | 7 34 s+ oA & 243,000
13 |25 %03 e fie— £ BF (B )4 7y EN 38, 500
14 |5 54 B jie—Pg Wb S| B ()4 *q = 66, 000
15 |25 %53 e jhr—Pg 9 dd w3 jle— & B BN 80, 000
16 | %5 554 o3 jhe— Py 55 4 3 jhe— 7L 30 EN 110, 000
17 [ 3R g2 () 50 35, 000
18 |8 < i = 45, 000
AAEET1,20%
19 &2 g 3 7k 2 & 13400~
o 130~
20 %5951 SHE/ R == 30, 000
21 [2 5 st-2% T AR 6, 000
22 | = 3 i“BLE S 2 2 R400 7~ /38
o B 2715, 000~ /=
il Rk - > %30, 0005/
20 LR ERR ()
1. g LGP 32 8 ¢ _
24 2. % K1) B T o P 59, 000~
3.2 FEE -~ e
25 |8 %5 % ) i i<Sen % 12, 960
26 |k fe Bk oh B ) B > Dem EN 19, 100
27 | Mgl A de B 42 = £ £ i=(Microendoscopic Discectomy > MED) = 80, 000
28 |5 % g3 % s b = 10, 000
29 1800+7 & "k MA| & 2 % & 16 EN 7,500
30 1800+ 7 *u Tk T kiR B 4T i 2L (F B LA = 32,000
31 @ A SR MTREIS o o A EN 5, 500
2 |pEiA2 MRS AR S =X 3,000
33 | E g # %+ i (Penile Venous Stripping Surgery) = 250, 000
34 |de g ot ek Rl g E e = 5,000
35 |tiEripEm g iE e = 10, 000
36 |igs Bamitsg L% 3,500
37 [ & 48 s g i o = 2,000
38 B+ #1 Gk = 100
39 |Euae pliE R T - = 200
40 [ 7 ioFktd 2 £ %514 Obunits) = 30, 000
41 |14-day continuous ECG monitoring = 15, 500
42 |7-day continuous ECG monitoring EN 12, 500
43 |BCR/ABL g & A 7 T3151 R ¥ é & = 2,500
44 |:f @5 %BRCAL/2 4 71 iR =X 59, 000
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R LA /K ﬁiﬂg
45 [® A3 ¥ & g SEAT 4] & e 1,500
46 |GISTA F1% % T A iRl = 15, 000
47 [ACTDrugd0 i e A FIRBI(F B ~ "~ 2 F/E* > (T AT = 80, 000
48 [BRCAL/2% & 2 F1#k i ({7 # & 1) = 68, 000
49 |Foundation One 324 % #&Jx 2 Fl1¥e | (%X ) =% 132, 000
50 | Bhom &4 = 2,000
51 [B-:#COVID-19p % #&#| ™ # (stat COVID-19 OPD, self-pay) EN 5, 000
52 | % & #F3Di B4 = 29, 580
53 | s #Fimie T iF = 12, 600
54 |Individual Music Therapy % %5 % ;5% (504 ) =% 1, 200
55 [Music Therapy Assessment i %|§ 2 ;5% =iz == 1,200
56 [#HA R dp B E I Tk iF = 6, 000
57 |5 R B R AH FWd SR iR = 29, 160
58 [Ie:g & sk = 12,000
59 [ AT PIE B g £ 111, 000
60 |Eg A4 kr k seig * B = 10, 000
61 |:= ﬁ{'%(—’: &'L‘_‘-L'_E'/) =% 680
62 [[EE(x AL L) = 680
63 |VIPpEm e & 31 * % =X 6, 000
64 |%&E =X 200
60 % Tk v Bfr > 1 & %F R =X 32,000
66 [REFH 7y =X 1,000
67 |x iem 4 =R (P R) 4,000
68 |1 irai 4 E R (i 3) =% 2,000
69 [¥ = 14 zEm 3> p 0
70 [¢ > 4 2EP (F4ixAF ) F4ir4=E > 100
T [ ok FRigE TR = 350
72 | g 13 /R P 5
3 | BEAEAAXY 1038 p 200
4 |Y A FES 3 5
75 | IR AR £ = 250
6 |23 BETGFEEL D = 250
T |kt L 7 i» 120
T8 |HAS 1 kR 2 i» 300
79 |5k % =g 4 i» 500
80 [25¢ ik p T3P P e (5 117) i» 50
8l |p F 3PP wiEp (¥1i>) ¥ 16> 50
82 [fehgal A g * P Brup) 3> p 50
83 |fea AT ¥ HEP (FpisE ) ¥ 3 1Lis = G 10
84 |3 %’lﬂg i» 50
85 |#rkzma g = 500
86 [ FFiFafl = 288
87 ‘hf?f a2 = 428
88 | ars (simt ) > 1,000
89 |PwipmET (& E 1 FDEFR) =% 800
90 |F1x%2aperd i» 500
91 [P o 4t € 7 i i» 500
92 % AR ER L REE YD i» 500
93 |33 4 E’l e ('\ At FEF? %’ ) i» 500
94 |RMAEZ AR YTEp 2 > 500
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5 g A/ s
95 | ¥ rhmET(F 8 $DEFR) i» 800
96 |t ETEERigserd i»> 300
97 v‘vﬂ«'ﬁl” 3p) 35k 0
98 |* me‘«lpgé‘ (,;,4, ,1\_4, ) %:4&:\:13-3 i» 50
99 |- &P (E>) i» 300
100 B ;«,f‘ éiEPg % §?2f)=\f¥33? > 50
101 |Z%rE (2o ) i»> 100
102 (>3 e aibde 343 > 100
103 [- &2 % - % ¥ 20> 50
104 | Fge” Bkt e 28rE (73 4) i 800
105 |*H 8 pdeq 1 kY HF % 37 » 300
106 Eé?]%ifﬁfﬂ-“ﬁﬁ/ufﬁa%(z&%lﬁ-;ﬁ)41-435*1‘Jlrmb" FEFTEE A i» 500
107 [£+ g #2 (EF) i» 120
108 /T}ng'lpg (* &) i» 100
109 |7 i 45 B TP CUEA P Rt = 14, 000
110 |7~ - & ¥rd > 950
111 [2 s~ g2 3 = 1,000
112 3;‘*@ 73 e P > 200
I3 [F1ime A E (AL THEHY) i» 200
114 [Pl pemd & S 2egd (Y #an#FTd) = 100
115 |RE G RAEP 2T -378 i» 200
116 [ EfEp 2 -4 § i» 150
117 |+ 7 #Pal 7 4 3F 2,000
118 | A 243/ 5 3f 3 1,000
119 |7 4% = 200
120 [ &% & redrds 737 /5 = 3 800
121 [2 27 %88 (A5) 3F 1,500
122 [2 0 7 & £ o - phda B AR 12,000
123 | B 3 F v if Sk A% K AL 8,000
124 |4 & £ 6 &3 = 1,000
125 [z & # i~ «}Lf'l'j?ﬁ'( ) = 1,000
126 [z 3 Hi-FB4() = 2,000
127 [z HF34(+) = 3,000
128 |Bppci g i (¥ ) =% 5,000
129 [BEaciT g iof (= 45) = 6, 000
130 (B it g 7o % (AL = 7,000
131 |fE 7y 2o (%) = 500
132 | #) %6 (- %) = 1,000
133 |7 #) % 6 (GEs2) = 3,000
134 |Denture repair--simple EN 1, 000
135 |Denture repair--regular = 2,000
136 |Denture repair--difficult EN 3, 000
137 [ v L% 3 1,000
138 |7 2% 7 4 (H i) = 1,000
139 %37 s 12 = 5, 000
140 |& # @ iT(2 ) = 3,000
141 [l Fui b & o4k = 3,000
142 |t % 28 H e = 6, 000
143 (A 2% #+E(C]) = 5, 000
144 |[* 2% $4(¢) = 7,000
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R LA /K f_"f;“)’
145 [A 2B #+E(2) =x 8,000
146 |7 % ‘o3I L 4 £ (0] ) = 8,000
147 |7 % @3 B3 4 £ (P ) = 10, 000
148 [7 % w ksl P 4 £ jiv(£) = 15, 000
149 [7 =5 £ (= 4) % 6, 000
150 |7 =3 £ (] 5 ) = 4,000
151 [3I 3+ £ 4C1) 53 10, 000
152 [51 % £ 4 (7) i 20, 000
153 [3/H £ 4 () [:3 30, 000
154 |57 3F 2,000
155 |4 Bl s & & -A 7 3,500
156 |4&x &l 5 & & -B 7l 6, 500
157 (sl s -C 7 10, 000
158 [l sz # 4o - JFIRT i 300
159 [>r &4 (Hg)—-1 7 25, 000
160 (> & (H 55)—-2 7l 30, 000
161 [>r &< (gF%)—-1 7 50, 000
162 [ » = &% (g3p)—-2 il 60, 000
163 [2v & BT (¥ 4) 7 5, 000
164 [0 &% - B L 4 (5 4e) & 10, 000
165 [>vr & » HE&sH (5 ) 7 20, 000
166 |H 3p45 mH KT -A 3 3,000
167 |H 3p45:d 26 B 7 -B 3E 10, 000
168 [45id hina & -A 7l 15, 000
169 |45:¢ A v& & -B 7 20, 000
170 53¢ hina & -C 7l 25,000
171 |45 A v&&-D 7 30, 000
172 | /38 5& {3 RE (R5F) B 1,000
173 [ ad { FARFILZ) i3 2,000
174 [ 2 v & & {3 A2 (T%F) il 2,000
175 [2v && {#FARGET 3) 7 5, 000
176 |Z AL B4R 3 1, 500
177 | &% 34 (A) 3 500
178 [& % 242 (B) 3 1, 000
179 |2re@esd b (Hg) 7 10, 000
180 |2 v fepF s d & & (%) & 20, 000
181 | mivgeEad £ & -A 3 2,000
182 [h ingepsisd &% -B 3 4,000
183 [> £ BéEd A 3 5,000
184 |% & ad 7 2 4838 5 (*h4e) 3F 1, 000
185 | » & B4k =B 3 20, 000
186 [ > £ BgEd 5 —C 3 25, 000
187 | & & e 7-A 37 8,000
188 |Z & & & 5B 3 10, 000
189 | &£ 4pmexC 3 12,000
190 | & 4meF-D 3 15,000
191 [£ & 4mé 7E 3 18, 000
192 [2F 7 %A 3 20, 000
193 | 2% 7 &-B 3E 25, 000
194 [2F 7 5C 3 30, 000

BA4H HM4HE




0 RERFR (R85 1137010024)p 3B § B 4
CIXETD

BATi3 3R Hp L 113#09% 20p

R LA /K f_"f;“)’
195 [# 2 rtid 1A =% 10, 000
196 |4 % ' ik 4 ——C =% 20, 000
197 [fepF 9 = (2 B 9) 3 1,000
T 3 1,000
199 |53 =o (1 7 42) 3 1,500
200 |&i 5 (4) 3 4,000
201 | Fe (2 %) 3 5,000
202 |4 af 3 2,000
203 | &I 37 maw (¥ 4e) 3F 1,000
204 |palriae g 3 12, 000
205 [ERAC R F 5% % & * "5 88) =% 12, 000
206 |#r & % (B 2%) 7l 500
207 |#5 A% (H %) & 1,000
208 |z 4 ® 3 15, 000
209 | £ wp = 3 7,000
210 [HE 48 = 5 2 B (B 3N) 3 5, 000
211 [fERg < 2= B(2r) 3 10, 000
212 [~ 29 43 (5 35/ 5% 39) 5F 35, 000
213 |ITI-k 42 48 3 60, 000
214 |2 = % p 548 3 70, 000
215 [ 4 % i 3F 5, 000
216 [ 47 = 3 30, 000
217 |4 k84648 3F 10, 000
218 [fE M A —4E N 2 S 35 40, 000
219 (e a2 % 3F 50, 000
220 |48 %8 TepF 7 = 3 10, 000
221 [HE#qE R pgd SEb (X% 24D 3 5, 000
222 [ 8K b (EF £8) 3 7,000
223 [1EAE A # B FAEN 3F 40, 000
224 |5 R0 H 2 b kBa 3 15, 000
225 |16 R84 B b 48D 3 12, 000
226 [te 884 2 il e 3 10, 000
227 [1E R84 B b 48d 3 6, 000
228 | { #1734 =% 2,000
229 | 7 4%ERA =% 1,500
230 [ g i3 ar(HE DM 3 72+ =% 15, 000
231 |51 e g 4 C]) =% 10, 000
232 |31 g w4 (P ) = 15, 000
233 [31 g 2 pe(2) =% 20, 000
234 [« 1 ¥ #354(0.52 1) = 5, 000
235 [« 1 9 43-A =% 40, 000
236 |~ 147 7 = 3 30, 000
237 |5 peste s L 87) =% 10, 000
238 [t p S o g FAIC) s, 000
239 | ¢ % 5 5 #e(H 50) =% 20, 000
240 [# 5 i3 % =% 4,000
241 |4 4 < iHCHE =% 6, 000
242 | % B ;A = 10, 000
243 | p M | 7 5 e =% 6, 000
244 |+ 1 7 (g ag) B 1 3,000
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245 |A-one i * 4% = 6, 000
246 |£ % A-one Fi ¥ 4 = 3,000
247 [ ) F ey = 6, 000
248 [* 3 4 R ke (~) = 6, 000
249 |HF 34 B R Foe () =X 5,000
250 [A 28 mng i iomk (C) = 40, 000
251 |H =5 R 3R iok (A) = 15,000
252 [F 25\ B v ok (B) = 30, 000
203 [l w8 Al (M) = 60, 000
254 RN e (B) = 70, 000
200 [H 8% Ak (O) = 80, 000
256 | Z N el (D) = 90, 000
207 [H s e Ak (B) = 100, 000
258 |Damon clear(two arches)f* 5 5P BT £ % en 30, 000
259 [Damon Q(two arches)f* % Q#H =5 & % 5y 20, 000
260 |EE N (D) i 4,000
261 |E& i e e (B) 5 6, 000
262 |EE i e e (0 B 8,000
263 |Ed i e E (D) B 10, 000
264 [#ac g KR = 20, 000
260 |t s (A) = 3,000
266 |51 & & (B) = 4,000
267 [ & & (0) = 2,200
268 [ 539 = 1,000
269 | m nek (B) = 3,000
270 | 38k (A = 1,000
271 |2 & 2 (450 %) 3 600
272 |2 £ A (F AR E B0 E) = 1,000
273 | % & Az (£ ZDamong @ E) = 2,000
274 |y = =% 5,000
275 [if 4 & #7256 N gr B = 3,000
276 |iE 4 ¥ A = playF® = 1,000
21T |z FaE=® B 5,000
278 72 & B 3,000
279 [ £+ (B) 53 10, 000
280 [+ £ (M) i 5,000
281 |vadh # 1 = 30, 000
282 [FHes T B KR = 32, 000
283 [ & P A = 200
284 |#8F > Xk P HER = 800
285 [- v s B = 200
286 |2 F£EF T 9 % B 4,000
W[5 9P I I 285797 24 d 7 3E 3,500
288 [Fe it 7 £/ 7 £ first stage permanent tooth metal crown 3F 4,000
289 |1 =47 & HA) 3 500
290 [v2d && (B R) A 5, 000
201 | V559 5 BT = 10, 000
202 |& A% & = 1,000
293 |H plH 71 % unilateral fixed orthodontic appliance = 4,000
204 |[EERIH 24T %% bilateral fixed orthodontic appliance = 7,000
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205 [# a5 B = 20, 000
296 |+ 9 w9 2 £ 9 & 3 6, 500
207 [5+7 169 2% 7 = 3 8,000
208 |7 AT TR BRI A(2T) = 5,400
299 |7 Rtk BB A (H) = 2,700
300 |47 & 7 ﬁiﬁzfix% Bkan) EN 200
301 |AF A g4 My b kAL s EN 200
302 [2¥pEHEHND = 1,500
303 |7 B & lfn.f‘ 7 Kl 520
304 [BE % o B2k K = 300
305 [H# A3 T HiTAR L IFHFTIEE T = 1,000
306 [P AR R A S =X 400
307 | &4 7 S (FFE) T A% 65, 000
308 [&4) 5 5 T AT 60, 000
309 zFa & % ES 800
310 |53 B P R#ER = 3,000
31 | EET 2 &g =X 2,000
312 [Ha $ 72 £ HU~4F) = 150
313 |#& % %5 /=% =X 100
314 |ABO = %) Fkf»xif = 500
35 [¥-k&d itk dh = 5,500
316 [Blood chromosome study (¥ 4 ) =X 3,500
317 [t k84 ¢ B A = 5,000
318 |4f zeimre i @ A 49 = 5,000
319 |Confirmation P.0.C chromosome study/ I{(*s837nd 4 ¢ Frainte &) =% 2,000
320 [ g () =X 5,500
321 |3 % % & = 500
322 |4 ¢ BT AR AT =< 6, 000
323 |&4 4 ff"ds)ﬁ:fﬂ@i%ﬁﬁ = 3,500
324 [FHpme ¥ LRI F REGHT L2479 WRF = 4,000
325 |7 A ¥ % skin biopsy% ¢ i+ & EN 4,000
326 [HEEE;N 5 4 A4 = 6, 000
327 [ e & 47iR £ = 250
328 [¥ A FH|HE e L 2 47ip £ EN 450
329 I&«ffz%‘i A 18 FT =X 7,900
330 ;:;a (H =) @ 995 ~ B FRpbe g ~ BB SR - | 0355 = 300
331 lFr i & 3539 (BSDME * ) = 300
332 |z EY A% 4 FALENT = 300
333 [+ ¢ ¥ % = 1,000
334 |Amphetamine confirmation (GC/MS) =% 1, 700
335 |Cannabinoids confirmation (GC/MS) = 1, 700
336 |MDMA JE RArilik & = 1, 650
337 [24-] pF s B E iR = 1,500
338 [#203 5 A4 2D = 800
339 |Anti-mullerian hormone(AMH) = 800
340 |33 6 54 £ F]F 24 Fv 3 = 1,000
341 |z 3k 4 & 73 = 1,800
342 [Anti-GAD Ab = 1, 200
M3 | HEFEF SR I = 1,000
M4 [374 ke BT HRED =% 600
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345 |Prostate Health Index(PHI) # 5|5 it B 45 8 =< 2,500
346 [#f ADNAR: 2 #6 & ’ = 3,000
AT [Bdr bt i i i pARELPIR R = 5,000
348 |Quantiferon(IGRA) EN 3, 000
349 |% ~ EVEELACAE J E Y = 30, 000
350 |F* % *h RIS M AEAS i = 5,000~20, 000
351 PRy BA B = 120, 000
302 |5 R h il ke T = 20, 000
353 |3DF4nit ¥ B = 24, 000
354 | ARG E 3 Tk F % B4 F 3 sy EN 45, 000
305 [i# TP ARETHN S = 15, 000
356 [t 2 A AT e 4 = 29, 000
357 [ | MEfHre & - = 600
358 |Neonatal Screen Test el 550
359 |& A FE% = 2,500
360 |s RFrR KA = 500
361 [&-k#-kFH#E Ly 1,000
362 |} & & R = 2,000
363 [ R4t i iR = 600
364 |+ ;%R EN 770
360 |:FILE A FE A == 2,300
366 || =+ -k FiRl = = 500
367 [428 347 & £ FIRfe 2 v ki (array=CGH) = 20, 000
368 [CALRA F1*t b8 F 9R $ 2L & & EN 1,000
369 [#~m] <z A3 (ERCC8) 2z A Fl &5 & & =X 9,500
370 |#: &7 < £ B4 (ERCCB) 2. AL F] T 5 & & EN 13, 500
371 | & dpr g a it gr (CRTRA %) 2. > AL 712 F & 14 EN 15, 000
372 | B f347 & A FIRERE 2 vk el ie(aCGH) EN 16, 000
373 AR % gm (% g B F )2 2 AT TR G ik = 20, 000
T4 |2 F RV pés 2B (e riHEd) EN 230
Ah |2 F R péte LT B(eRHERE) EN 230
376 | b M TR R ve B E 16 R EN 27,000
3T (R ~W2r BIHETA = 100, 000
378 [NPMI A 1R ##2& EN 2,000
379 B pp 7 (CYBBAFDZ > A F 25 itk = 9, 000
380 |[DNAzZE B (2L~ M & o 4 ¢ fkip)) EN 4,000
381 [% ZDNA == 700
382 [ % ~ e F]1+ (A4 e % )2 INVI 3 INV22 & 4& EN 4,000
383 |X% ¢ BTt RI(F Sk P B 4702 ) = 4,000
384 [GJB2 A TR e EN 4, 000
385 1845 A7 Aly ¢ a2z AT = 2,000
386 |z Ay ¢ A B REH EN 3, 000
387 |JAK2 L FIV61TF % % 2L &+ 4& EN 1,000
388 |4 i B g A Tl R EN 1,000
389 [MPLA M1 % F515% Fair ik = 1,000
390 [¢ 2 42 A (NEMOA 7D 2 2 A FI 2R i e = 9,000
391 |2~ g d e T = 20, 000
392 |Guardant360 CDx ;7% ik J& ¥& 8 % DNAY 8l =< 135, 000
393 |REf g F & = 1,500
394 [ParstE » % 2 i BB G R (F 63w 4 E 384 ) = 5,000
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35 [rpfE r w2 WA HEGRE L (DI P) = 30, 000
396 [HF T RB-BA W iR = 6, 500
397 [Parpde » w2 4 F WBE R ¥ Hk = 8,000
398 (%84 4 42 5 BT %p (PKEDI A %2 > A P12 5 &1k = 36, 500
399 | ¥4 XM e s A A F& % (SCAT ~ 12 ~ 17 ~ DRPLA) = 6, 000
400 |[Réprgi A B + ERETFAEERE = 2, 500
401 [# 8 X4~ 3 &R = 2, 300
402 [ # o —+hg g g E(VHLA 7)) 2. > A T2 5 & 16 = 6, 000
403 [= f & (ATPTBA 72 2 A F1 2 A & ¥ = 12, 000
404 [2 AR BHF R = 5, 000
405 [BRAF A F1 % % < & kR = 2,500
406 | ;R EGFRA 7)1 % %24 i = 10, 000
407 [+ Fw —FF 5 F 4t = 7,500
408 | MBS FT &N 2, 500
409 |5 #T £ 19, 000
410 |# 4 * 1-131 MIBG:x %t = 10, 000
411 |+ 3 > £ ¥4 F-18 FLT 5 36, 500
412 i * 1-131 MIBG/x &4 = 30, 000
413 |2 P MBHCE 2 FlE ks K AL 12,500
A14 |2 Z BH-E T4 = 150
415 | B s d e sy L U7 R b 3F = 2, 800
416 |Cancer Registration & follow up & Picture 3k 430
417 e S b 4 PR 05 = 235, 000
418 |~ #F v w TR R Fkl 18R = 31, 000
419 | % 3 = 0
420 [Autopsy = 60, 000
421 | gk s ] S HER (A 7)) = 400
422 |7 # i ik = 305
423 |Acetylcholine” receptor Ab == 750
424 ¥ centromere B-4m48 EN 1,000
425 [Cord blood IgE = 600
426 |DR-T0( %k 5 3=v B j2 A ) EN 4,000
427 [EBpm & & #p Fum dit [ oG = 960
A28 |5 - XA W2 4 AW L2tk = 1, 350
429 |Neuron Specific Enolase (NSE) = 900
430 [$ - FAH* & A0 528k (e FpiE) = 1, 600
431 | Mk b = 500
432 | R A AL RS = 1,000
433 [Fea Bz R 4 B = 3,000
434 Pe e & C = 3,500
435 | i+ &5 = 300
436 |% - AP R L AV OHKRAGBIFET = 150
437 |23 AF R e CENBEPF TR = 1,500
438 |42 F A F R e 2B P A 5 & (PURE) = 1,500
439 |Echo for OBS/GYN = 400
440 [P~fraAg ¢ A = 1, 200
441 | P R AR A = 300
A2 |5 - AP B g2 v B E&LE AUP) = 400
443 [k 3 = 200
44 |3%3 o3 R = 800
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445 | peis * 3 5 B iR g% = 3, 000
446 |37 i B =% 1,500
44T |42 3 vk i e % 1,500
448 |G ) ? =% 5, 000
449 |(CF )R F Rk s 47 32(3000%) = 2,000
450 [(CEORH R okiok i H (1500%) = 1, 000
451 |3 ma i H R A 4 = 600
452 |23\ & & B £ P = 300
453 | & &R 4 p)zE = 300
454 | ved 20 (= H B & /8 ) =% 200
455 | S ved 2 (H = H B & /B8R = 360
456 [%ed =R A e (B - M &) = 600
A57 |E s = A (A B &) =% 900
458 | s R 4R pE SRR (154 48) & 320
459 |°® B °® B-7 42" R(DRK) R 280
460 | ® B Ag -7 A3 RGRR) = 120
461 i&q BEGIA ;ﬁ*? R R =K 2,000
462 |B LR FE MK AR i HE = 1, 600
463 |B LR F B MK ISR A% 2 2 Ma = 2, 400
464 |B LR F B ME- KL SR ) F&'g =% 800
465 | b A 4R GERR (304 48) =% 600
466 |m 3 F B 1R 6 = 800
467 [Free Walk *F ¥ %3275 EN 3, 000
468 | 5 R K E AR =% 300
469 [F ok Rk E -k iT = 600
470 |F 2ok - HA =% 100
471 [ F ek = Kook de B 800
AT | sk T kSR E 1,000
AT3 | T3t &eid o= B & s =% 1, 300
ATA | P58 &30 g oA fe % s =% 2,000
ATS [ s o -1 8 % s = 500
AT |2 N A k-7 B %S =% 800
ATT | FEN AL oh-HE ik = 1,200
478 |1 a4 =i % =% 1,000
479 }_W e &l 2,100
480 Fp B = o F‘T—l’ B EN 1, 000
481 |4 et F {5 v %;z (304) =% 320
482 [y ick W 2R dR2 £ (@ 23D 5k 240
483 | sk W LR 4R & GEsedD) 5E 500
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